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Shovl]all work in your notebook, including dimensional analysis and units!
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oxygen? e

b) How many -moleeulee?f’—on (III) oxide can be proguced from 13.5
?
moles Fe? L/Fe_ _\,,g(:) —> 2 'Feq_ >

isg-//gf/ AN ozxr&gs-“u. r:,,oz
4 el e )’( Wg?{ //
ol rethe S -
) How many moles of O; arg,ﬂeed__gc_!j_q_p_mdugg_y 7 g of Fex03?
7 ot 34. r)3
Y. + 30 On > 2 Fe,0

. o eré’oa = /0, 3% mk O
1 F 5 e : et “ e =
. P ﬁﬂ»(L e 'O
2. & CGHio+_ 13 0,--5_ & COz +_ [0 H0
a) When 0. 624 moles of 02 ar(i:;reacted how many moles of carbon
?
dioxide are produced? Or 624 et B r{;

a cyH, + 13 O, =% €CO, + 10,0

= | Y06 x 10° i
‘FU l-"e,{,os

"M 02_ _ — .

b) How many %ran]ggt&m&amﬂeeded{eﬁmdueewg v

.;ch + 130, —> ¥CO, + (0 H,0

| Huo
3.0 ns2 M0 x "QNMM{MMJ” gx?m:e?‘e oy [“’3 8. Cy

G
c) What V_O_lumg_Qf&_q/ 2.0as is needed to react with 2.56 g of C4Hlo?f T STP
o, 5’63

2L
2 a,_,H 4 IBO ___,_:7?00 + mH,o

/ o e B 2241 G [
256, CH, e CqF 6.4
3 @' 5 Cuth) 2y \'mo:& o | o



3. 2 _KCIos > R KO + 3 02

pry

: K%
a) When 62.0 g of potassium chgate are reacted, hov:_e many moles of
7

KCI will be formed? 6 204 7 o
q RelD, ——7 R KClL + R0,

% BOs
mg,KG{o{ gmee kel = |0, §0L mel KL |

Q,'z.o/stC\ng 752, ;54«403 2 e KO

b) How many mmwmm&w 2.85 g of KClO3?
?NOQ. wile g

= S’Q’g
O KC\Oy — 2 KC\ + 3O o
2,854 KOs T x Zroel O .{s.:%age;s.:w,,;_m
\ LY e
czﬂ3 .54 g of oxygen wa Iﬁ'r%c?ﬁced How many g:%ms of potasglum / {%o@/ g’t:{s.ooz
chlorate A
79 . ég{j 01D x 10T opeulod 2
2 KClby —7 a

[PWa- Jeme ¢RI /.a:: sa keloy N 9054

O, x Ak Dz N o
354902 * 33040, 3mLo= rn oK C10 KC 1Dy

s Y NHe+ 7 _0a—>_Y nO:+_© & H:0
a) What mass of NOz can be pro ed from 8.46 x 1022 molecules of

oxygen? 8 b X1 ndlcsas

7,
Y nHy + T Oy =S Yo, + LHp

o
s rrens a5 =

22
?;H’b ¥ 10 {\&a«&g"{/} S &__i:%mmm ﬂmmﬁ:ﬁez L/é 03 NO2 - ‘
‘ D‘ér;i‘a MQ:_T(\}M{ X | s 33%2 f

b) 23.7 g of NH3 would be able to produce how many moles of H20? e
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